81 2003 Yamaha Tracer 9 Shock Shield Fitting Instructions p"r’nﬂmIDA

Kit Includes:

1X C24444 Rubber Flap

1X CFK812003 Bracket

2X CBOLO105 M5 X 10mm Stainless Bolt
2X CNUTO0150 M5 Stainless Nyloc Nut
2X CWASO0100 M5 Washer

2X CNUT0205 Mé Stainless Nyloc Nut
2X CBOL0251 M6 X 16mm Stainless Bolt
2X CWASO0221 Mé Washer

® Fifting this Pyramid shock shield is quick and simple.
® Attach the bracket to the bike using the Mé fittings supplied (Fig 1).
® Attach the rubber flap to the bracket using the Mb& fittings supplied (Fig 2).

® Check fixings periodically.

Fig 1

Any questions?
sales@pyramid-plastics.co.uk
+44 (0)1427 677990
www.pyramid-plastics.co.uk

You

Follow us on social media and
feel free to leave us a review!

812003 vamaha Tracer 9 shock shield Fitting Instructions p""'anIDA
Kit Includes:

1X C24444 Rubber Flap

1X CFK812003 Bracket

2X CBOLO105 M5 X 10mm Stainless Bolt

2X CNUTO0150 M5 Stainless Nyloc Nut

2X CWASO0100 M5 Washer

2X CNUT0205 Mé Stainless Nyloc Nut

2X CBOL0251 Mé X 16mm Stainless Bolt

2X CWAS0221 Mé Washer

® Fifting this Pyramid shock shield is quick and simple.
e Attach the bracket 1o the bike using the Mé fittings supplied (Fig 1).
e Attach the rubber flap to the bracket using the M?& fittings supplied (Fig 2).

® Check fixings periodically.

Fig 1

Any questions?
sales@pyramid-plastics.co.uk
+44 (0)1427 677990
www.pyramid-plastics.co.uk

You

Follow us on social media and
feel free to leave us a review!




